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101 ©1AH| 47,700 47,700 0
Al 35,775
= 11,925
VBESEENEEES 47,700 47,700 0
O%2UXHPRILYBHEERSTE)
47,700,000 47,700
Al 35,775
- 11,925
401 AIEHIX 20 564,300 623,700 /59,400
Al 423,225
- 141,075
01 AlZ28| 552,153 610,061 /57,908
OsZ g2 552,153,000 552,153
Al 414,114
- 138,039
02 Zeltl 8,806 10,127 1,321
O=ZadacAg 8,806,000& 8,806
Al 6,605
- 2,201
03 Al S THYI 3,341 3,512 AT
OsZ g2 3,341,000& 3,341
Al 2,506
- 835
AT AIEAIS (M ALY/ AIHI) 45,713 45,713 0
Al 36,113
T 9,600
101 @124H| 1,427 1,427 0
Al 9,027
- 2,400
MU IIRINZZE2NSES 11,427 1,427 0
OYUTHRIRY(BHPERS TS
11,427,000 11,427
Al 9,027
- 2,400
401 Al HIZL S 0HYI 34,286 34,286 0
Al 27,086




2A:
T ZH -
o e

=aak

40 4H 01
iy o

SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
- 7,200
01 Al&H| 33,282 34,286 A1,004
O A& AIS 33,282,000 & * 1A 33,282
Al 26,293
- 6,989
02 Zelbl 1,004 0 1,004
OLZAIEAHA 1,004,000 * 14! 1,004
Al 793
- 211
MEUHAHGZ2ESRHSH A (AHI) 30,800 30,800 0
Al 9,240
- 21,560
401 AIEHIZL20HH| 30,800 30,800 0
Al 9,240
- 21,560
01 Al&HI 30,800 30,800 0
ONE LIS 2R S RN HHAIL
30,800,000& 30,800
Al 9,240
- 21,560
A2 0l 2EAS 98,857 104,462 N5,605
101 2124d| 63,867 67,872 N4,005
M JIHHI2E2sEES 63,867 67,872 A4,005
OUELANREABUHEESSEE)
86,4003 x 72 x 132 x80%<& 2> 63,867
201 LEt2AH| 34,990 36,590 A 1,600
01 AFR2teldl 29,310 30,910 A 1,600
Ogbtg=-2Y| 15,670
—AEWENES
35,000 & *B0IN x4 *x80%<E 2> 5,600
—NMEWEEESSE
50,0002 *20 ) *3Z5 *80%<E 2> 2,400
—MEHLBHOIEESES
10,0003 * 1750 x3Z+B0%<E 2> 4,200
—MEHHERSEEHAUHIEUS
40,0003 *20 0 *3Z *80%<E 2> 1,920
—(MESEI| DA
20,0002 = 15CH 300
—AME2EI|2=2lH] 50,000 *10CH 500
—MEXS=E(HAL)E=EMES
12,500& 608 750
O | 7,040
— MUK HH2RASAH|AZ R}
8,000 *5H x 100 x80%<& 2> 3,200

_19_




£A: SRS
M ZE T Al I3
oelr 2 ME XY EER=E)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
—MEFH ARSI XL A 2SI
8,000 x30Z »20 2 +80%<&E 2> 3,840
ogxz 6,600
—MENSIHESIE S X=
1,100,000 62 6,600
2 222 5,680 5,680 0
SEEL=ELY 480
—AEYAIH S S
40,0003 128 480
OAIE &Y= XY 4,000
— 2RISR SHE T | Y 22
400,000 * 102 4,000
OH = 1,200
—MENSHESIHE S FI
1,200,000 *1CH 1,200
A SR E AL 52,713 48,716 3,997
201 B2 AY| 52,713 48,716 3,997
01 ArR22ltl 16,766 14,270 2,4%
Oget=2| 14,016
—AEALARE (A HS105)
10,0002 *30IH * 105 +80%<E 2> 2,400
—NMEESEsAS
30,0002 * 1007 x80%<E 2> 2,400
— UG EAEESAHR
120,000 #4 2] x 12 +2 0 2o x80%<E 2> 9,216
ogxtz 2,750
— A2 EFHILXZ(2ADS)
550,000 x5 *1CH 2,750
02 S=29| 35,947 34,446 1,501
O3=SIZLHA 3,240
— LSS EAMIIRS
180,000& *12& 2,160
—HHANI 23 40,0003+ 12& 480
—ESSEHEEIIRS
40,0003+ 12 480
—ESSIITFALEERS
10,000+ 123 120
OH = 2,707
-2 (H=II1S)
1,583 R x5 B 2002 +80U<E 2> 1,267
— AR QU(UEIIS)
5,000 *5E+30 L +80%<E 2> 600
—CCY(H=I1S)
7,000 *5Z+30 2 *B0%<E 2> 840
OAIEEHISXIY| 30,000
— A2 |22l (OIHSS)
200,000& 105 2,000
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A SE=SAL
= ZE TAl Ot
Rl FE M8 X4 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
—MEAEEY SRR (LN, FIE]
SHHE) 1,300,000& 105 13,000
—MEHEANEES(FRS)
1,500,000& * 105 15,000
HEF=H A+ MHAE 20,000 20,000 0
401 AIEHIZ SR 0HYI 20,000 20,000
01 Al&HI 20,000 20,000
OdEFHAG =S HHAI
20,000,000 20,000
SH0ISREE EY 19,200 20,000 A800
201 Ler=23 | 19,200 0 19,200
01 At2teltl 19,200 0 19,200
OogegrE9] 19,200
— &0 EEEY
24,000,000 ~80%<& 2> 19,200
=L FHMZALY 20,000 20,000
401 Al HIZL S 0HYI 20,000 20,000
01 Al&HI 20,000 20,000
O=ZFHH=AL 20,000,000 * 14| 20,000
A LA} 23,020 25,000 21,980
201 er=23| 4,360 5,000 A640
01 AtR2te|Hl 4,360 5,000 A640
Odgt+==H| 800
—& 5003 *1,0007H +80%<E 2> 400
—&=2 50,0003 * 107 +80%<E 2> 400
o=l 2,560
—ASZHAFH S A
8,000 *400E B0%<& 2> 2,560
Oogxz 1,000
—HUYLSEHHLANS R
1,000,000 *14] 1,000
206 M=l 18,660 20,000 A1,340
01 MZH| 18,660 20,000 1,340
OASYUSARS Y 18,660
—2S (M) 22,0002 +7502#8<E 2> 13,200
—X== 5,500 *7507H +80%<E 2> 3,300
—25(Us=) 3,000 *9007H +80%<E 2> 2,160
AT AIE A (ZH]) 1,156,351 234,025 922,326
= 899,385
Al 115,635
- 141,331
401 Al HIZL S 0HYI 1,156,351 234,025 922,326
= 899,385
Al 115,635
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A SE=SAL
My m2 Al )1
Rl FE M8 X4 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
- 141,331
01 AlZ2H| 1,135,659 227,700 907,959
OgZ A& 1,135,659,000& *14] 1,135,659
[ 884,899
Al 13,774
- 136,986
02 Zeltl 16,752 4,685 12,067
OgZ A& 16,752,000 * 14 16,752
[ 1,727
Al 1,507
- 3,518
03 AIESTHYI 3,940 1,640 2,300
Og A& 3,940,000 3,940
[ 2,759
Al 354
- 827
HEE ZAISE =4 4,881,520 8,258,911 A3,377,391
Al 1,906,700
T 2,974,820
e AR EE S22t &F 1,450,000 4,470,000 A3,020,000
Al 1,015,000
- 435,000
R STAT LML (NLLEUEIIB) 1,000,000 2,000,000 1,000,000
Al 700,000
- 300,000
401 AIEHIX R0 1,000,000 2,000,000 1,000,000
Al 700,000
- 300,000
01 AlZ8| 994,000 1,992,800 998,800
OLEZUSHBEAANE I LAY
994,000,000& *14] 994,000
Al 695,800
T 298,200
03 Al 2 HHI 6,000 7,200 1,200
OIS HHEANE TG
6,000,000& 6,000
Al 4,200
- 1,800
MZ20E0IZ2 R ZSAS (AIH]) 450,000 1,350,000 A900,000
Al 315,000
- 135,000
401 Al HIZL 201 450,000 1,350,000 A900,000
Al 315,000




A SE=AL
M BAEE SAISHE =4
e A AR B S22t 24 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
- 135,000
01 AlZ2H| 447,000 1,345,200 898,200
OMZ220{RI01 T8 X4
447,000,000 *14] 447,000
Al 312,900
- 134,100
03 Al 20HHI 3,000 4,800 /1,800
OMZ20el0I83xd 3,000,000& 3,000
Al 2,100
- 900
AN2lE figt SA=A =4 & 2 3,431,520 3,788,911 A357,391
Al 891,700
- 2,539,820
SEANE=X 2] 251,800 252,000 A200
401 AIEHIZL SR THY] 251,800 252,000 A200
01 Al&HI 250,000 250,000 0
OZANSJ&CIFA 2 ALY
220,000,0002! 220,000
OBA=TLAR0/42FY|
30,000,000& 30,000
03 AIZ S THYI 1,800 2,000 A200
OSEAE=X2CIA 1,800,000 1,800
SEANEZX 2] 570,568 640,746 AT70,178
201 2= 176,368 249,568 AT73,200
01 At22t2l] 30,000 30,000 0
Oget=ZH| 30,000
—2=FHE 30,000,000& 30,000
2 s5=34l 146,368 219,568 AT73,200
OAIZ2Z =X 146,368
—0{el0I=0IAI2 R X2l
30,000,000 ~80%<& 2> 24,000
—BANLSRAB2
50,000,000 »80%<E 2> 40,000
—S3 222l
5,400, 0002 x80%<& 2> 4,320
—SdZAE 2R 2
80,000,000 ~80%<& 2> 64,000
—zazBYIRE
17,560, 0002 «80%<& &> 14,048
206 MH=Hl 35,200 32,000 3,200
01 MZH| 35,200 32,000 3,200
OS3ZANESE=N=7E 23,200
—STH(EH, CI2 )
120,000 x200m" x80%< = &> 19,200
—2= 200,000 x20m" x80%< = &> 3,200
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£AM: SE=X1t
B YR CADY A
ool AlRiS 9B ZR=K 24 2 22 (crol: @ 2)
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
—=EQl5E 1,000+ 1, 0000H <809 2> 800
OBANESTH
10,000,000 *80%<& 2> 8,000
O3 A2e M2 4,000
—QC & 2, 0tAF S
5,000, 000& *80%<& Z> 4,000
305 iat= S 2,000 2,000
01 A2 S 2,000 2,000
OBJEEI=ESHHIAZ 2,000,000& 2,000
401 A& HIZLE2C0HH] 357,000 357,178 A178
01 Al&H| 352,000 352,000 0
OSZANEEF X2 A 352,000
—SEAIEEYIAELE 100,000, 000& 100,000
—HSAIE DM A 100,000,000 100,000
—S3S) sEZLEL|
100,000,000& 100,000
—020|=0|EH 2l Y =s0|AIEAS
32,000,000 32,000
—2 e SRYANE=XSYZEY|
20,000,000& 20,000
03 AIEE0HYI 5,000 5,178 N178
SEAIEZEF X2 ALY
5,000,000& 5,000
S 2Y 794,958 745,720 49,238
101 Q124d| 415,965 363,070 52,895
M JIZHHI2E2ENsSEs 415,965 363,070 52,895
OZBE= 22 HEE=SEE)
287,712,000 »80%< & 2> 230,170
Ot AL | QAL A (5HEEH 2 SHE!)
232,243,000 *80%< & 2> 185,795
201 B2 AH| 362,001 363,258 N1,257
01 AtR2t2lb| 64,917 52,158 12,759
O+ 40,840
— D0 ZOHY B 40U OHLH T &
50,0002 *400 7 *80%<& 2> 16,000
— 2222 | &Y 2
20,000& x 105 *x20 I *80%< & 28> 3,200
—zaRR U
7002 %2, 000K x80%< & 28> 1,120
—HIIEX2le=+2
54,0003 * 100E *80%<& 2> 4,320
—20IHHIAIAE A2 (AUS2EIAL
100,000& 128 1,200
—02I0|=0|AIEAED| QAT A 42
15,000,000& 15,000
Oextz 24,077
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£A: SRS
B YR CADY A
SH9l: AlRIS 98t BR=K X4 U 2l (crol: m2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
—SESHE0I=0IHURSZ
9,477,000& 9,477
—S2 2| SEHIYR= 14,300
- 24A((0.6m) 660,000 x5 3,300
DAFATH3.58) 660,000 8 5,280
AR (BE) 715,000 8 5,720
— &I Z (AITHSZEIA)
25,0003 128 300
02 S=29| 297,084 311,100 A14,016
O3=SIZLHA 296,584
—MIIe3 106,800
- EloIs& 100,000 #4404 A+ 12& 52,800
- Btg gl 0Is3
500,000 x 101 2+ 123 6,000
R E=L]
500,000& 11 2+ 123 6,000
HABO{RI0| 22
500,0002 x 11 2123 6,000
2 3ct 100,000 *4JH A+ 12 4,800
sERS2
1,200,000 100 222 2,400
NEEEEL
2,400,000 * 10 2% 123 28,800
BN PN ey o= 110,200
CIESSEIESNy]
50,0003 #4201 2+ 123 25,200
St El 0l 3=
1,000,000& 10 2% 12F 12,000
H=0ji0| 28
1,000,000 =10 A% 12 12,000
HABOIRI0| 22
1,000,000& =100 A% 12 12,000
SENE0I3B&
1,000,000& 10 2% 12F 12,000
- sENS2
9,500,000& x 104 A +2& 19,000
NEEL R
1,500,000& =10 Ao+ 12 18,000
—SANRS(QHYLESIRZ) 3,622
A Sl AIHU L MSIAIEZ
35,0002 12& 420
SESSHEAHIAHIEOIHY
5,5003 #4704 A 128 3,102
—HZXSTHISIHI (233002 )
74,538,000 74,538
—SHMAD|BIAIEAIZ2(3H)
1,524,000& 1,524
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A SE=AL
M HNE CABY T4
SH9l: AlRIS 98t BR=K X4 U 2l (crol: m2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
o2zl 500
-3 Bl eSS Y 500,000 500
206 MH=H| 9,600 12,000 A2,400
01 M=4l 9,600 12,000 A2,400
OEEESLELE LT
2,000&+55*1,200=x80%<E &> 9,600
405 AHAHE S 7,392 7,392
01 AL =S F = 7,392 7,392
(@R SIE=FS ] Rndel 7,392
—&HCIZ0 1,045,000 *1CH 1,045
— A 616,000 x2CH 1,232
—0l=2| 528,000 ~5CH 2,640
—-537| 825,000 ~3CH 2,475
SEY K2l ArZ (AlH]) 117,000 117,000 0
Al 81,900
- 35,100
101 @124H| 87,700 86,700 1,000
Al 61,390
- 26,310
04 JIZtN22 XS+ 87,700 86,700 1,000
OsEgFHanRYCHEE=SEE)
87,700,000 87,700
Al 61,390
- 26,310
201 er23 | 28,300 28,300 0
Al 19,810
- 8,490
2 s5=34l 28,300 28,300 0
OZ2Z22=ZHAl 24,300
MRS 1,200,000 128 14,400
Al 10,080
- 4,320
— &=l 700,000 122 8,400
Al 5,880
T 2,520
—StRs 125,000 122 1,500
Al 1,050
- 450
OAE&EHIR X 4,000
—SEEAEHHIF A 4,000,000 4,000
Al 2,800
T 1,200
202 04t 1,000 1,000 0




A SE=AL
M HNE CABY T4
SH9l: AlRIS 98t BR=K X4 U 2l (crol: m2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 700
T 300
01 2LHoIH 1,000 1,000 0
OszgIATLLEF0
1,000,000 1,000
Al 700
- 300
CASE . =Xtz (Ald]) 562,572 562,572 0
Al 393,800
- 168,772
101 e124d| 360,572 360,572 0
Al 245,400
- 105,172
M ORIMZZ2NSE S 360,572 350,572 0
OZAZR=TOE RIS (BHEERS
=8 350,572,000 350,572
Al 245,400
- 105,172
206 M=l 22,000 22,000 0
Al 15,400
- 6,600
01 M= HI 22,000 22,000 0
OMZHI 22,000
— ol S+ 10,0002 x7S+70& 4,900
Al 3,430
- 1,470
—H=H =Y 10,0002 x65+70E 4,200
Al 2,940
- 1,260
—XF==sHE27Y 12,0002 *300% 3,600
Al 2,520
- 1,080
— X =SEH2Y 5,000 x400% 2,000
Al 1,400
- 600
—&g27eY 7,300& %105+ 100H 7,300
Al 5,110
- 2,190
401 AlEHIZL R0 190,000 190,000 0
Al 133,000
T 57,000
01 Al&HI 189,000 188,642 358
OSHAIE =22 A 189,000
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A SE>=X1
B YR CADY A
ool AlRiS 9B ZR=K 24 2 22 (cre:xigl)
SA - B GR(31) - HIRAY - BES ol &k G o HlmS2
— SR Y=XM=AL 110,000,000& 110,000
Al 77,000
- 33,000
— DAY =T HBLH AL
39,000,000& 39,000
Al 27,300
- 11,700
—2F3=H XA 20,000,000& 20,000
Al 14,000
- 6,000
—AUSHESHE AN
20,000,000 20,000
Al 14,000
- 6,000
03 AIE 2 CHHI 1,000 1,358 A358
O3 A =X2elAt 1,000,000& 1,000
Al 700
- 300
SIZ0IA (AlHI]) 25,000 25,000 0
Al 17,500
- 7,500
201 L2 | 15,000 5,000 10,000
Al 10,500
- 4,500
01 At 22|l 15,000 5,000 10,000
Oget=2| 15,000
—SJNENEESHH
50,0003 *20H 1,000
Al 700
- 300
—ABEWETY 5,000& %105 *2800H 14,000
Al 9,800
- 4,200
206 M=4| 10,000 20,000 210,000
Al 7,000
- 3,000
01 M=l 10,000 20,000 A 10,000
SAIBOIAILTHE
10,0002 *10Z* 1004 10,000
Al 7,000
- 3,000
SSoEAl 22"l XA (AlH]) 584,382 706,633 A122,251
Al 70,000
- 514,382
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A SE=AL
M HNE CABY T4
SH9l: AlRIS 98t BR=K X4 U 2l (crol: m2)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
101 @124H| 536,382 650,665 A114,283
Al 64,000
- 472,382
04 JIZtNZ22 XS24+ 536,382 650,665 A114,283
OBAUBESITAZ A2
BUHEsESHES)
670,477,000 x80%<& 2> 536,382
Al 64,000
- 472,382
201 =3 48,000 55,968 AT,968
Al 6,000
- 42,000
01 At2t2ltl 48,000 55,968 AT,968
OSFUSSAYEARZ Y 48,000
—AREFU(MYIISFEBE)
60,000,000 =80%<Z 2> 48,000
Al 6,000
- 42,000
SSSHEA ALY X (AlH]) 90,000 114,000 24,000
Al 45,000
- 45,000
401 Al HIZL S 0HYI 90,000 114,000 24,000
Al 45,000
T 45,000
01 A&l 90,000 114,000 A\24,000
OSSaEaINE A
90,000,000 *1IH 2 90,000
Al 45,000
- 45,000
SEU SSsHE4 2 30,240 30,240 0
201 =3 30,240 30,240
02 S3=2g4l 30,240 30,240
OAE8Z IS X 30,240
—SdUSSHE
30,240,000 30,240
2 IR AHIAG (AlB]) 105,000 105,000 0
Al 73,500
- 31,500
201 ger=3| 20,023 20,023 0
Al 14,016
- 6,007
02 S22l 20,023 20,023 0
OS32s2LNAM(ZX=2e3¥) 20,023
M3 1,200,000& * 122 14,400
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A SE>=X1
M HNE CABY T4
SH9l: AlRIS 98t BR=K X4 U 2l (cro|: M2
A - BB C9(B) - MRAY - BES ol &k G o HlmS2
Al 10,080
- 4,320
AR 120,000« 122 1,440
Al 1,008
- 432
-3z 20,0003 128 240
Al 168
= 72
S ENEEEEE
300,000& 123 3,600
Al 2,520
- 1,080
—A2RXHI(15E0I5t)
2,593 %131.99m 343
Al 240
- 103
401 AIEHIZL 28I 84,977 84,977 0
Al 59,484
- 25,493
01 Al&Hl 84,977 84,977 0
O2e S-S ALEHIAS
84,977,000 84,977
Al 59,484
- 25,493
22X 2= A2l (AlLl]) 100,000 100,000 0
Al 70,000
- 30,000
401 AIEHIZL 28I 100,000 100,000 0
Al 70,000
- 30,000
01 Al&Hl 100,000 100,000 0
OZ X2 ERANE L =R 2
100,000,000 100,000
Al 70,000
- 30,000
O{El0I S FHIAI (AlYI) 80,000 80,000 0
Al 56,000
- 24,000
401 AIEHIZL 28I 80,000 80,000 0
Al 56,000
- 24,000
01 Al&Hl 80,000 80,000 0
O020IZ3 A 80,000,000 80,000
Al 56,000




A SE=AL
M HNE CABY T4
SH9l: AlRIS 98t BR=K X4 U 2l (crol: m2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| = 24,000
A=A MEl A 100,000 110,000 10,000
Al 70,000
- 30,000
401 Al HIZL S 0HYI 100,000 110,000 10,000
Al 70,000
T 30,000
01 Al&H| 100,000 110,000 10,000
OAS= A AE2B N 100,000,000& 100,000
Al 70,000
- 30,000
SEOAHIYEEX A 20,000 0 20,000
Al 14,000
- 6,000
401 AIEHIZ SR OHYI 20,000 0 20,000
Al 14,000
- 6,000
01 Al&HI 20,000 0 20,000
OSdAHI SR EX ALY
20,000,000 20,000
Al 14,000
- 6.000
23 =xd 48,414 57,576 N9, 162
clGENEE] 48,414 57,576 29,162
HE2tEAIZ 2 23,137 26,325 A3,188
201 Ler23 | 19,057 19,245 A188
01 Al22t2lH] 13,492 13,680 A188
EIEIER =1 11,192
—SYIIAHR Bl 24R
286,000 x 122 3,432
—S0IZHIAIARAIZ 2 (301 A)
340,00021* 122 4,080
—AoOEEAG R
140,000~ 12& 1,680
—HEEEARM2ERY
500, 0002 52| «80%<E 2> 2,000
Oogxz 300
—HEESIAZE I
25,0003~ 1L =122 300
O=23+¢ 2,000
—HggsdA=<
100,000& *1AI2++202] 2,000
02 s3=gHl 5,565 5,565 0
OZZ2=ZAAl 3%
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2A:

E M

X=]

)
[=)

E
<\

0

0

[

A=Kl

==

Estolz=xd
D SS=XE

SA - ZE . BR() - HRAR - BES of v G o HIDE2
—&3e= 33,0002~ 12 3%
OA&ZISAY 5,169
—2HZ2R I (20E0135t)
3,100&+1,022. 17m’ 3,169
— ASAERTHI(HINEEH|, RES, 2K
1) 500,000& 22 1,000
— A F A 500,000 x22] 1,000
206 M=l 4,080 4,080
01 M=4l 4,080 4,080
O&AIZ2e| X=X HE M =] 4,080
—CIMENEF Y
15,0002 *340 S x80%<E &> 4,080
HE=MHESMEE 24 25,277 31,251 Ab,974
101 @124H| 16,797 22,711 Ab,974
04 JIZtN2 2N sE+ 16,797 22,771 A5,974
OUE=NEINS2EARUGUHESES
_Hn_@) 86,400 %*1 243U A GOU<E 2> 16,797
201 fet= 3| 4,480 4,480
01 AtR2te|HI 4,480 4,480
Oget+=EHI 4,480
—SHEtHEL2E=57Y
8,000 255 +28 x80%<E &> 4,480
206 M=l 4,000 4,000
01 MZH| 4,000 4,000
OUE=sMH2=tME M =h] 4,000
—SNHESHSSHMHZ S
20,0002 *2507H +80%<E 2> 4,000
Al 2o S AMEUSAZ2 X4 810,901 817,914 AT7,013
= 29,334
Al 14,667
- 766,900
QISAZE 2 810,901 817,914 AT7,013
= 29,334
Al 14,667
- 766,900
SFESC IR 197,398 209,330 A11,832
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Odgt==H| 17,200

_32_




SN DE=X
Hm: Kol DIE G ALISAZI X4
Shelr ABISAIZRE 2l (SH &)
SN - B S(BH) - HBAY - BAS 0l &y G o HIRS2
— M2 AL SRR XY
80,0002 %50 * 10Z+B0%< R 24> 3,200
— | RYERRY(S0|E)
8,0002! *400H * 10 +80%<Z 24> 2,560
—ETHPY (2LE2SAS)
80,0002 %47} * 1525 <0< 24> 3,840
—JIEIARERQ(OIHS)
7,0002! % 180IH*5 5 =B0H<E 24> 5,040
—D|E}OHLH 2 & 4O K| &
40,000 220D *4 5 +B0%<E 2> 2,560
02 2Z24H| 8,777 9,366 589
OglzH| 3.877
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—BAREAE 8,000 * 105+ 157} 1,200
206 THE2HI 9,680 9,680
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101 21A4H| 797,032 752,507 44,525
01 2= 81,465 85,826 A4,361
OAlt2I22+E
11,3192 x21H*30A| 2H+ 123+ 1. 02+80%<E 2>
81,465
02 JIEtX == 3,618 3,951 A333
OAZA22E(HRZE)
10,5563 x 1 *x35A1 2Hx 123 » 1. 02+80%<E &>
3,618
03 SR (RINHA) 222+ 711,949 662,730 49,219
O3d=X2el (1Y) 711,949
—S2%+d 612,058
lEs 2,899,310 *x11&~ 128 382,709
0= 2,899,3103 * 11 x200% 63,785
225 19,2003 % 1.5+ 11H *120A[ 2t 38,016
A2 22
20,9303 *11H*60A[ 2Hx1.5 20,721
]
20,9303 x11H#8A[ 2Hx1.5+22 60,781
Axtrs+d
20,9303+ 112 +BAI 2hx25& 46,046

_36_




SN BR=XD
. HY2IHH(S=X1)
chol: ol (19 @)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
— AR 60,0003 *11E+12& 7,920
—IEY 10,560
Hi 2 At 40,0003 x9Z =128 4,320
JIEDS 20,0003 +26F *12& 6.240
—= 2l 140,000& *11E+12& 18,480
—n&H| 140,0002 x 11123 18,480
-2, =X2a])
50,0003 «2Z 123 1,200
—YEFOHI 2,899,310& 11 x60%*23] 38,271
—IEgse 40,0002 *1H 122 480
—2d == 40,0002 +7H*12& 3,360
—2A2AAH(10d) 1,140
S22 E 8| 130,000 »8H 1,040
SA2E 8| 50,0003 2% 100
Jl2&l 24,052 25,663 A1,611
J|123&H| 24,052 25,663 A1,611
201 L2 AH| 16,085 17,660 A1,575
01 AtR2telt] 16,085 17,660 A1,575
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